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SIREUS ifercfadd e TaeT Uiaaiie aiem

1. X a, b, ¢, AP § T &iX
a;b=X,b;c=y?§f?‘ﬁ(x+y)aﬂH@
-

If a, b, ¢ are in AP and
a+b b+c
2 T2 T
then the value of (x + y) is :
(A) 2a ®B) 2b
©) 2(a+b) D) 2(b +¢)

. IR fHF B I A WR [ T @

IR 7T o & FEATa B—

Four coins are tossed. The chance of get-
ting none of the face as head is :

1 1
B 15 ®) g
1 3
© 3 ™)

. R 8V (n2— 1) ST T ‘n’ T—
If (22 — 1) is divisible by 8 then “#’ is :
(A) El@f%l—d? H&&AN/a natural number

B) t{\UTf—CE/an integer

(C) Yol 9 (W YUTid)/an even integer
(D) fass t{\UTf—CE/an odd integer

. T 4 cm 4l & o9 B YD 1 em Yoll
& BT | HIa A S| 9 B ' B
IS U9 & T8 GG ¥ UK B—

A cube of side 4 cm cut into small cubes

of each side 1 em. The ratio of the surface
area of all smaller cubes to that of large

oneis :

(A) 1:2 ®B)1:4

(€) 4:1 D21

. TP 7 m A9 3R 20 m TR Y & GaTg
&1 TR S SR IF GaR D g FUP 22
m % 14 m 1 7 SR T 8, S 7

g B

gl Y¥9-49A 2019

A 20 m deep well with diameter 7 m is
dug and the earth from digging is spread
evently to form a platform of 22 m x 14m.
The height of the platform so formed is :
(A) 25m ®B)35m

©) 5m D) 7m

6. IR 92 B 99 ¥ 3R 41 Bl 43 § 93

o T & < SraciT 46,64, 87,41, 58,
77, 35,90, 55, 92, 33 I ATIH &—
The median of the observations 46, 64,
87, 41, 58, 77, 35, 90, 55, 92, 33 after
replacing 92 by 99 and 41 by 43 is :

(A) 55 B) 58
©) 64 D) 43

7. AR (3,2) VAR TH G 3x—fy =58

T kB B
If aline 3x — ky = 5 passes through (3, 2),
then the value of “%” is :

(A) 4 ® 3

© 2 1

8. ab"% P IRAA oS B

The rationalizing factor of ab: % is
a B /g
b ®) b
n+l n-1
a a
© {p M) {7

Match the following :
oA uSiel/Solids 3T/ Volume

3

. 4
1. g (PA)/Cone  a.

3
2. dad (Reiery b w2k
Cylinder
2
3. TeT®HR/Sphere . gmﬁ
1
4. Marg/ d. 3k
Hemisphere

10.

11.

12.

(zgfar = 3nerfRa)

e 3 w2l

(A) 1-d,2-b,3-a,4-¢

®B) 1-d,2-b,3-a,4-c¢

(C) 1-¢,2-b,3-a,4-c¢

D) 1-¢,2-d,3-23,4-b

R m 3R n S feads FH0
x2+px+810¢ﬂ§‘l%\_‘f?ﬂm7n:2%
\_‘ﬁ‘p’aﬂ‘ﬂ@%—

If m and »n are the roots of the quadratic
equation x>+ px + 8 =0 withm —n=2
then the value of “p’ is :

(A) +8 ®B) +7

) £6 D) =£5

T = & 37 T B B AN 72| 3
FATNRSD STN A A PA 2, A
-

The sum of the numerator and the de-
nominator of a fraction is equal to 7. Four

times the numerator is 8 less than 5 times
the denominator. Then the fraction is :

2 1
® 3 ®) 5
> 3
© 5 ™)

A R g Pl 7 SR APQR ||
APST 3R APQR & uRf¥r : APST &1
aRRf =3:4, A1 APST &1 &% : APQR
B gTBA T—

In the figure APQR ||| APST and perimeter
of APQR : perimeter of APST =3 : 4.

Then the area of APST : area of APQR

P

UoR | 1



13.

14.

15.

16.

17.

18.

2 |

(A) 16:9 ®B)9:16
©) 3:4 D)4:3
UH HAX B YAD Afdd T Afdad A

By e g1 g1 e & g |
45 A T FR D AN B GR T—

Every person in a room shake hands with
every other person. The total number of

handshakes is 45. The number of persons
in the room is :

(A) 5
©) 15

®B) 10
D) 20

(’ﬂ""l?x(x72):l%?‘ﬁx2+xl—zaﬂ1ﬂ@
3

1
If x(x —2) = 1, then the value of x> + —
x

is =

(A) O ® 2

© 4 D)o

tan 7° tan 23° tan 39° tan 60° tan 51° tan
67° tan 83° I T &—

The value of tan 7° tan 23° tan 39° tan 60°
tan 51° tan 67° tan 83°1s :

A0 ®1

1
© V3 ® 5

SR X2+ ax + b= 0 FHHROT B UH Hel

GRS T T D 0 AN b
TE T F—

If one root of the equation x2 + ax + 5= 0

is 3 times the other. Then the correct

relation between a and b is :
(A) 3a%=16b B) 16a%>=3b
(C) 3a=16b2 (D) 16a = 3b>

(a, b+c),(b,c+a),(c,a+b)f%|§?ﬁm
< Y BT B aEwmd §—

The area of a triangle formed by the points
(a,b+c),(b,cta)(c,at+b)is:
a+b+c abc

2 ®7

© 1 (Y

MR y=m+m>+m>+ ... o NI |m|

X T

(A)

fy=m+m2+m+ ... oo when |m|
< 1, then the value of “m’ is :

AGRAWAL =XAMCART

19.

20.

21.

22.

. .
w1, B 75

1-y 1+y
© - ) 7
B | TF g & b= fag O

AB = 8 em WR RIf3@ fopam /¥ e
|ABP = 60° &l AABP &I &3l 5—

In the figure, a semicircle with centre O is

drawn on AB =8 cm. If |ABP = 60°then
the arca of AABP is :

A
09
P

B
(A) gcm (B) 8cm
©) 83 em D) 43 em
¥ 1R 31T ®U F T2 g U I
IR Y 10 m Bl G IR ST &l & 3R
HRAT 9 30° BT S BIT I & <l IS
& TEE T

The top of a partially broken tree touches
the ground at a point 10 m from the foot
of it and makes an angle of elevation of
30° from the ground. The height of the
tree is :

A) %m B®) 1043 m
© % m D) 3 m

IR feema TRl 402 — (p — 2+ 1 =
0 e A 8, Al p” BT A 5—
If the quadratic equation 4x% — (p — 2)x +

1 =0 has equal roots then the value of ‘p’
are

(A) 2T 6/20r 6

B) 2A-6/20r -6

(C) 29 -6/2o0r -6

(D) 236/ -20r6

(1, 1), (=1,5),(7,9) 3R (9, 5) fogii @
e R TgYST 99T 8, 98 T

23.

24.

25.

26.

The quadrilateral obtained by joining the
points (1, 1), (-1, 5), (7,9) and (9, 5) is :

(A) EI"Jf/Square

(B) FTEIYSI/Rhombus

(C) 3mId/Rectangle

(D) =R agYsl/Parallelogram

N GG S 2x + 3y = 12°% 1Y
S WY, 98 B—

The linear equation coincide with the line
2x+3y=121s:

(A) 2x+3y=15 (B) 7x+14p=13
(C) 8x+12y=48 (D) 8x+10y=18

-4
R tan 6= — &, sin O BT qT B—
-4 .
Iftan 6 = EY then the value of sin 0 is :
A) 15
®) *

©

4 4 4 4
D) 5 TWR 3 H@[/g but not 3

IR sin BA—B) =1 8IR cos CA - B) =

?%,\_‘ﬁ sinA(’rT\l—\’cosBaﬂH\R[%—

3

Ifsin BA-B) =1 andcos A-B)= BN

then the value of sin A and cos B are :

NE) 1
(A) 7,0 ®) 3.0

NE) 1
© 7,1 ™) 7.1
TP 6 cm IS & g9 b B A T 919
60° PIUT SRART P & A &Y 919 AR
] AU B AE T—

An arc subtends an angle 60° at the center
of a circle of radius 6 cm then length of
minor and major arcs are :

(A) 27 @R 102 and 107
B) 10ndR2w/10xand 2 =
(C) 8ndR4n/8nand 4=
(D) 4ndR6n/dnand 6



27.

28.

29.

30.

31.

IRp+q=63AR pg=8T,Wp>+43=
Ifp=¢g =6and pg =S8 thenp? + 4> =
(A) 216 ®B) 144

<) 72 D) 36

39 PRI H 3R AB|| CD, CD || EF 3l
x:y:3:2%,?‘ﬁz:

In the figure, if AB || CD, CD || EF and
x:y=3:2thenz=

A\ ,B
f7/A{

C\ /D

A

E / >F

(A) 36° B) 72°

(C) l44° (D) 108°

3 i ga B B 15 ¢cm 3R 9 cm

RSN IRSERESIS RS [ C o

I H TRl T, B AWM 3

In two concentric circles of radili 15cm
and 9 cm, the length of a biggest chord of
the larger circle which is a tangent to the
smaller circle is :

(A) 24 cm (B) 20 cm
(C) 12cm (D) 10 cm
JMPHRTH AABC R ACDE FHSI0T 19

Tl R AC = 24 cm, CE = 7 ¢m &R
ACB=|CED &,dl AE 8—

In the figure, AABC and ACDE are right
angled triangles. If AC = 24 cm, CE = 7

cm and |[ACB=|CED then AE is :

C
D E
A B
(A) 30cm (B) 25cm
(C) 22cm (D) 15cm

B2+ o goem

R B fOrerar 3—

32.

33.

34.

35.

36.

s+ (9 %. 57

When | 71g % 25) " \2 is
simplified we get :

125 27
A 57 ®) 155
© 1 D) 0
(3,-2) g & Y 1&1 % wRrae freran
-

The reflection of the point (-3, -2) in Y
axis is :

A) G.-2) B) 3.2)
© 3.2 D) ©0,-2)
5 .
2 aire = drr < oo e -
. 5 9 .
A rational number between 7 and — is:
11
59 31
A) 7 ®B) 7
23 7
© T ™ 5
AR g=28R b=3FT T (@ + b2y 1@
q &—

If a =2 and b = 3, then the value of

(@ + by Lis

(A) 17 ®B) 72
1 1

© 17 ) 7

AR fx) =22 5x+TMAD)-A-1) =

If ix) = x> — 5x + 7, then 2) — f-1) =

(A) 34 B) 34
©) 12 D) -12
(e ) e =+ ) (=5
X +—2 X+ — X +—4 X ——
X X X X
BN AR WY T—

The simplest form of :

()l o2
x x x x

is:

s 1
A1 B ¥~

© g ) -
X X

37.

38.

39.

40.

41.

42,

15 Sraciei I IR 23 | 3R UAH
Saeiieb B 2§ N far Sie ar
3irT Bm—

The mean of 15 observations is 23. If each

observation is mutiplied by 2, then new
mean is :

(A) 23 (B) 46
(C) 25 (D) 36

TP Ufda 9 13 SASfpar AR 15 dA5D B
IR ST & B Teb BT I AT SIIQ it
TP AP T B B TG &—

There are 13 girls and 15 boys in a line. If
one student is chosen at random, then the
probability that he is not a boy is.

13

1
») 7 ®) 5%

1

1
© T3 ®) 3

T ¥ P e Byt & ured T8
g7

Which one of the following are not the

sides of a triangle ?

(A) 2cm,3cm,5cm

B) 5cm,4cm,8cm

(C) 8cem,3cm,9%cm

D) 9em,4cem, 11 cm

1,3,6, 10, ...... By T ¥ we)y
B e e o 9 < yufer: e
T B B—

1,3,6, 10, ... are triangular numbers.
The smallest triangular number that ex-
actly divisible by 9 is :

(A) 18 ®) 27

©) 36 (D) 45

3 &3 AN 1613 1S I A3
Y TP TR 30% AP S g8 T
=

The sum of two numbers is 161. If one of

the numbers is 30% more than the other
then the numbers are :

(A) 71 3R 90/71 and 90

(B) 70 3 91/70 and 91

(C) 54 @R 107/54 and 107

(D) 60 R 101/60 and 101

P2+ 9p +14) 3R (P2 + 13p + 42) &l
qHA OTETS 5

The common factor of (p2 + 9p + 14) and
(p2+13p +42) is:

\

qmR | 3



43.

44.

45.

46.

47.

48.

4]

(A) p+2 B)p+6
C) p+3 D) p+7
e R Y41 Uoael @ 9 3 | Uode @

I Y TG B MY A 4 A SR
AT B MY F 6 A T | AR IAD MY
1 ART 5199 & IRER 8, Tl 9 B G
g B—

Pramod and Praveen are the sons of
Prajwal. The present age of Prajwal is 4
times the age of Pramod and 6 times the
age of Praveen. If the sum of their ages is

equal to 51 years then the present ages of
sons are :

(A) 91 AR 6 T/9 years and 6 years
(B) 8ret AR 9 W11/ years and 9 years
(C) 91t AR 4 Te/9 years and 4 years
(D) 51t AR 9 ¥Tel/5 years and 9 years
AMNO ¥ & gd 3 ifa fmam T 3,
A MN = 12 cm, MO = 14 cm 3R
NO =18 em &, St Yoliall &l P,Q, R
wef o ¥, @ MP + NQ + RO 38—

In a circle inseribed in AMNO having MN
=12 cm, MO = 14 cm and NO = 18 cm
touching sides at P, Q and R, then MP +
NQ +RO is :

(A) 18 cm (B) 20 cm

(C) 22cm (D) 44 cm

499 R 9 B FiA F G H P07
B B—

The angle between the hands of a clock
when the time is 4 O’clock is :

(A) 60° B) 9%0°

(©) 150° (D) 120°

IR sin6+cose(:6:2%,\_‘ﬁ sin? @ +
cosec2 B =

If sin + cosecB = 2 then sin?6 + cosec?0

(A) 4 @) 3
©) 2 D)1
51999 & 31 ¥ (1,3) SR (4, -5) T aFR
SHH 5 (7,2) 2, =T 9 &em—

Two vertices of a triangle are (1, 3) and
4, -5). If its centroid is (7, 2) then the
third vertex is :

(A) (16, 8) @) (8,12)

(€) (12, 8) (D) (8.16)

TR X131 B T W 3 g DI
qrFT I & § 7

Which one of the following is always true
with respect to parallel lines ?

AGRAWAL =XAMCART

49.

50.

(A) S TAMI B FaA AT I Bl &/

sum of their slopes is zero

(B) ST SarHl &1 I I Bl Y/

difference of their slopes is zero

(©) ST g @) ToTwE I B Y

product of their slopes is zero

(D) S9% Tl @ @fey—1 B B/

quotient of their slopes is —1

2s5in 60°cos30°cosecd5°

tan 45°cos60°sin 45° @ 5] AN
= e &—

2s5in 60°cos30°cosecd5°

When tan45°cos60°sin45° > M
plified we get :
(A) 6 ®) 32
3 342
© 5 ) ==

gell 20 fawd Urpfres sl &1 AN
%_
The sum of first 20 odd natural numbers
is :

(A) 210
(©) 200

B) 250
(D) 400

R I A fasm=

51.

52.

53.

54.

9 gaT W T O H,S0, &
e 5T B ST b < 21

_ gas is liberated when zinc is
treated with H,SOy.

(A) Oy B) 803
©) Hy (D) 80,
@Ragm Bl

Quick lime is :

(A) CaO (B) CaCl,

(C) Ca(OH), (D) Ca(HCOs),
A BT A GR-IR &A1 § CO, & A
e A R S R s
FRAT
Slaked lime reacts slowly with CO, in air
to form a thin layer of :
(A) Ca(HCO3), (B) CaO
(C) Ca(OH), (D) CaCOy

9T & QA HIRTHIST A

Ao & A1y fedR CO, R g
P IS AT B |
During respiration combines with

oxygen in the cells and produces CO, and
water.

55.

56.

57.

58.

59.

60.

(A) '\j—sﬁ\_ﬂ/ Sucrose

(B) WaaSl/Fructose

© T?ﬂﬂ\_ﬂ/Glucose

(D) Telarerst/Galactose

AT THF Wfed H AT B
Colour of ferrous sulphate crystals :
(A) RM/Orange  (B) &/Green
(C) "el/Blue (D) 9retl/ Yellow

Y TS AIgeE Bl T4 SR & 9
BT I TR STl B

When lead nitrate is heated emission of
oceurs.

(A) NO5 (B) NO,

(©) NO (D) Ny

Na,SO4 + BaCl, — BaSO, + 2NaCl I8

v @ fow v sareRun B

Na,SO,4 + BaCl, — BaSO, + 2NaCl is

an example for reaction.

(A) fa=ema/Displacement

(B) |rE f3¥emg=/Double displacement

(C) o¥fa aqeret/Thermal decomposi-
tion

(D) X=1Fd/Redox

fore frmfe STRiR OR foreq 1 efferirergst

AIgndfow . I A

e & T B TR T B

Chips manufacturers usually flush bags

of chips with gas to prevent the
chips from getting oxidised.

(A) SMFISTH/Oxygen

(B) TSgo/Nitrogen

(C) wSZo/Hydrogen

(D) B T3 ATFATgs/Carbon dioxide
D G B A= b fRed FrEd
SERCIERIESACI b N A R |
Tl

On passing excess of carbon dioxide

through lime water is obtained.

(A) CaCO, (B) Ca(OH),
(C) CaH, (D) Ca(HCO3),
B e fSotell &1 e 8

B B

solution does not conduct

electricity.

(A) AT T S/Sodium hydroxide
(B) I RFrISe/Caldium hydroxide
© W/Glucose

(D) TEIFANRS TRIS/Hydrochloric acid



61.

62.

63.

64.

65.

66.

67.

T B pH B—

pH of blood is :

(A) 56 ®) 6.5

C) 74 D 4.7

TRIY ORISR S Rl §
Sl g & e Hes R Bl

Our stomach produces acid which
helps in the digestion.

(A) H,ySOy4 (B) HNO;

(C) Hy,PO; (D) HCI

e 98 & < AR T A B G
TR S & S P PR AT 85—

Stinging hair of nettle leaves inject
causing burning pain.

(A) $IMIgP TRTE/Ehanoic acid

(B) tHeAls® TRIe/Methanoic acid

(C) WAE® TRIS/Propanoic acid

(D) Eﬂéﬂ\m TRTE/Butanoic acid
~ IfFrEe B

Baking soda is :

(A) W PEME/Sodium carbonate
(B) AIfed sEgoE ®EiAe/Sodium

hydrogen carbonate

(C) Wifsa TggFargs/Sodium hydrox-
ide

(D) OfeT® F@RIg<S/Sodium Chloride

IRFT P 01 B o I ST
BRI B

is used in the manufacture of
borax.

(A) ITRFT |rel/Washing soda
(B) dfHT A=l/Baking soda

(C) Wifsa TggFargs/Sodium hydrox-
ide

(D) WIfsT® Fahe/Sodium sulphate

AR 3w URE (POP) ¥

Plaster of Paris (POP) is :

(A) CaSO,2H,0 (B) CaSO,H,0

(C) CaSO,'2H,0 (D) CaS80,."sH,0

T3 <1 TeTell TIRI H Wi &l &l
el Il g |

The ability of metals to be drawn in to
thin wires is called :

(A) smETaaH=aE/Malleability
(B) AT/ Ductility

(C) "araw<d/Conductivity

(D) HAYR/TIse/Sonorous

68.

69.

70.

71.

72.

73.

74.

75.

I IR 81 S
is most malleable metal.
(A) Au B) Al
(C) Fe (D) Zn
IR g1g T AfeT THeRR B
is non-metal but it is lustrous.
(A) BIEF/Carbon
(B) FANI/Chlorine
(C) SMIF/Bromine
(D) ARSI/ lodine
UM & e ufifhn el wRa
Tl
does not react with cold water.

(A) AfeTm/Sodium
(B) dfeaa®/Caleium
© i\Fel'f?ﬁﬂ:[/l\/[agnesium
(D) WIeRRM/Potassium

g Wiell HNO, & w1el {HIST & g9rd
¥ i PeRE 2
Manganese react with very dilute HNO,
to evolve gas.

(A) Hp B) N,

©) O (D) NO,
EiniEziica e I 1

The order of reactivity is :
(A) Al>Mg > Fe>Z7n
(B) Mg=>Al>Z7Zn>Fe
(C) Al>Mg=>7n> Fe
(D) Mg > Al>Fe>7n

e E

Cinnabar is :

(A) HgO (B) CuO

(C) HgS (D) Cu,S

HeHhIgs AITH & IR0
AFrarssd § uRakla fear S 21

S

Sulphide ores are converted in to oxides
by :

(A) H&/Combination

(B) FH/Reduction

(C) YprHl/Calcination

(D) “jflef/Roasting

F6203(S) + 2A1(s) i 2Fe(1) + A1203(S) +
Heat.

gaURfP & @ B
F6203(S) + 2A1(s) d 2Fe(1) + A1203(S) +
Heat.

This reaction is called :

76.

77.

78.

79.

80.

81.

82.

(A) Y&/ Calcination

(B) ofse Ufdhan/Thermit reaction

(C) eriel RifhaT/ Thermal reaction
(D) fa=ema=/Displacement

B S WD H A S B qHI 18 Al

% Uarel Brel B OMA & | $9H1 BRI
AT B

Silver articles become black after some
time when exposed to air. This is because
of coating.

(A) RieaR dawie/Silver sulphate
B) Rieax sfFarEs/Silver oxide
(C) RieaR Wewrgs/Silver sulphide
(D) RieaR Famrse/Silver sulphite
HE PO A g B
Bronze is an alloy of :

(A) Cu& Zn B) Cu& Sn
(C) Cu&Pb (D) Cu & Ti

ol & I” @ e & fow
fHs1 a1 &1 SWINT b S S

77777 is an alloy used for welding
electrical wires.

(A) FTRI/Bronze (B) UKKidl/Brass
(C) fAemI/Solder (D) $HURI/Steel
CNGH Y= ueh &l

is a major component of CNG.
(A) YT/ Methane (B) $9-/Ethane
(C) UY/Propane (D) EQ\?‘*[/Butane
TRT <ell D BIEIOTIBOT & forg

P SIRG B WY H ST fhan
ST B

For the hydrogenation of vegetable oils
is used as catalyst.

(A) Pt B) Ni
(C) Pd (D) Ag
3T @l fFoleeRor S B

Dehydration of ethanol gives :

(A) $9/cthane

(B) $971s® TRTS/ethanoic acid

(C) 9 /ethene

(D) $2RVether

TR HTERE TR Hil o R
e I

__ solution of acetic acid in water is
called vinegar.
(A) 5-8%
(C) 4-6%

B) 8-9%
D) 6-9%

\

qR | 5



83.

84.

85.

86.

87.

88.

89.

6 |

uReE sOAsH U B Tl
H

The melting point of pure ethanoic acid is :
(A) 300K B) 298K

(C) 310K D) 290 K

TR TePIEicl AR Hrafaaierd TS <
@ fo1e TRrs a1 99 1 Sulerfar 3 ufiferan
FEM IR @ E

Esters react in the presence of acid or base

to give alcohol and carboxylic acid is called
(A) TRRIBDHe/Esterification

(B) AwIfAfth@er/Saphonification

(C) =Ergifafas/Hydrolysis

(D) f=afed/Rancidity

T & e B
gl

Properties of elements are periodic func-
tions of their :

(A) URHIY] HR/atomic mass

B) AT SHIP/atomic number

(C) URHIY] 3MThI¥/atomic size

D) A=Y El—ff%f/atomic nature

e ol Ao § st
gl

Modern periodic table has peri-

ods.

(A) 18 ®) 8

< 7 D) 17

Herdilgew (Mg W) ¥
Metalloids is :

(A) fafari=/Sillicon

(B) ®IdA/Carbon

© i\F'@I'f?m‘:[/l\/[agnesium

(D) @&l/Tron

FAT BT I F o
R

M shell of chlorine contains
electrons.

(A) 7 ®B)6

() 4 D)5

arg SFase + o — X + Uil
X Tl

Metal oxide + Acid — X + water, X is :
(A) 9Tg/Metal (B) 3F/Acid

(C) J9/Base (D) THF/Salt

AGRAWAL =XAMCART

90.

91.

92.

93.

94.

95.

96.

97.

EESIRECRCIRE] 2l

Hydronium Ion is.

(A) H B) H;0"

(©) OHj M) on

AIRRN & g9 @1 pH gl

pH of milk of magnesia is :

(A) 11 ®) 10

(C) 115 (D) 105

Y[ BT AITERT B T B AR
el areell 9 9 B

The atmosphere of Venus is made up of
thick white and yellowish clouds of.

(A) H,ySOy4 (B) HCI

(C) HNO; (D) HSO;4

TR Ufe HioE Bk Bl
acid is present in Tomato.

(A) TFoifere/Oxalic

®) fafew/Citric

(C) TR/ Tartaric

(D) HAMIZ®H/ Methanoic

AIfeay FeivIss & STellg = Bl

P E

Aqueous solution of sodium chloride is

called :

(A) "9RI/Brine

(B) FARRT @I U/Milk of magnesia

© g?ﬂ’s‘ WI=l/Washing soda

(D) SfBT A=/Baking soda

RNRFTUSSR & uRifAfeE o=

H

Bleaching powder is represented as :

(A) CaClO (B) CaOCl

(C) Caocl, (D) Ca,0Cl,

|qifezm PEie @1 ya: fheeaiiero

I BT 5—

Recrystallisation of sodium carbonate

produces :

(A) SfHT AI=/Baking Soda

B) g?ﬂ’s‘ 1 Arel/Washing Soda

(C) =T urse¥/Bleaching Powder

(D) T=aH/Gypsum

R Rerf i e el &
AT & {0 WIReR & B9 37 SN
[E2IES IS

77777777 is used as plaster for
supporting fractured bones in the
right position.

98.

99.

100.

(A) CaS0,.10H,0 (B) CaSO,2H,0
(C) CaS0,.15H,0 (D) CaSO,
O R D A W fafaas
(RA) & w9 AE 31

Metal existas liquid at room
temperature.

(A) SIHIE/Bromine

(B) 9# (URT)Y/Mercury

(C) oe/Lead

(D) % (SI=<T)/Zine

THRI 7 I BT Pl BT AU €1
P ?

is an allotrope of carbon which is
hardest in nature.

(A) SEAS/Diamond

(B) UWTZS/Graphite

(C) TuferarT Frafss /Silicon Carbide
(D) 1J\?ﬁ'@FT/Fullerene

39yl siTerss B

Amphoteric oxide is :
(A) CuO (B) Na,O
©) K,0 (D) AlL,O;

101.

102.

103.

T e SuuT AT BfY g O B
-

Image formed by a plane mirror is always :
(A) MR 3R W=/ Virtual and erect
(B) drfde® 3R Seal/Real and inverted
(C) SMIRT 3R Sel/ Vitual and inverted
(D) Irfd® R WS/Real and erect

T MATHR U1 b abell Brt AR Y
Y AR oI drell PIfid @l 5—

The imaginary line passing through the
center of curvature and pole of a spherical
mirror is ;

(A) 9919 EI\v*_s{—]%lﬁfPrinciple focus
B) 9giq ﬂ'@f/Principal axis

(C) WIda @xg/Focal length

(D) SR fd=ol/Parallel ray

3FaTe ST WRIGCHH & 918 Wd 318 &
TR ©F fosor B
NG

A ray parallel to the principal axis after
reflection from a concave mirror will pass
through :

(A) 9919 EI\v*_s{—]%lﬁfPrincipal focus
B) 9giq ﬂ'@f/Principal axis



104.

105.

106.

107.

108.

(C) I F153/Radius of curvature
(D) a&dl B Bs/Center of curvature
S U a Pl SR A I Sl 8, Al
I <4 gIR1 IR Bfa 31 R Bl
-

The size of the image formed by a convex

mirror when an object is placed at infinity
is ;
(A) ]%lﬁ Bl ATHIR/Point sized

(B) d9<1 g3/Enlarged

(C) faemai/Large

(D) HTT #H4U/Same size

Biddl B <@ B fory ST 6y S
qrel SUOT B YPR —

The type of mirror used by dentists to
see larger images of the teeth of patients
is

(A) TR/ Concave

(B) S=TalaR/Convex

(C) 9H<TI/Plane

(D) FFaarae/Plano-convex

Qg g A1em g & g e o7 &
ST Y 3ITIC PHI0T & AT P AN 2R
%1 39 RigT @1 F8l S 85—

The ratio of sine of angle of incidence to
the sine of angle of refraction is a constant
for given pair of media. This law is known
as:

(A) Ao &1 e/ RigT=T/Maulas law
B) ¥ # Ngra/f a9 /Snell’s law

(C) V% &l /fagr</Stefan’s law
(D) URba o Rig=/faH/Pascal’s law
ffafed 9 9 foaa smaHie w€ad
T ?

Which among the following has a larger
refractive index ?

(A) IB/fBAce  (B) ®IE/Carbon
(C) BR/Diamond (D) HITH/Ruby
TS MABR A= Bl GRAIPR HUE D
VAT T B Pbal Il S—

The effective diameter of the circular out-
line of a spherical lens is called :

(A) T8F/Aperture

B) Eé’f% F5/Optic center

(C) ga/Pole

(D) WU s ]%lﬁ /Principal focus

109.

110.

111.

112.

113.

114.

115.

el ST BT BIdbel s Bkl s—

The focal length of a plane mirror is :

(A) [/ Zero (B) TP/One

(C) sF<l/Infinity (D) S1/Two

= I AT B TH. IS THS &—

ST unit of power of a lens is :

(A) e/ Metre

(B) <1/ Diopter

(C) HAHIeR/Centimeter

(D) RIf$T/Steradian

3w @1 e (Eued) B—

Retina of the eye is a :

(A) UHE B FIST Geal/Light sensitive
screen

(B) @=d/Lens

(C) TH]/Object

(D) f%/Aperture

3IRg & o1 1 Bidhel AT Dl TR

R TR A &1 aegall IR A1a AT

BT IR qEB 8| T BT 5—

The human eye can focus objects at dif-
ferent distances by adjusting the focal
length of the eye lens. This is called :

(A) ST )} ng% 3I9/Presbyopia

B) '\jﬁ%ﬂ/Accommodation

(©) fwe Eé’f% 3I9/Near sightedness
O X Eé’f% 3I9/Far sightedness

3G & =T DI Bidhal awTs H IRa
et fopan & FoT B © ?

The change in focal length of an eye lens
is caused by the action of the :

(A) gaell/Pupil

(B) arfaTye/Retina

(C) fuferard AR/ Cilliary muscles
(D) T/ Iris

Y 9T B A1 i@ & glaa & e
HH & oIl | 59 Rerfy @1 P o 73—

The power of accommodation of the eye
usually decreases with ageing. This con-
dition is called as :

(A) e Eé’fﬁ I/ Myopia
B) S R ng% 3I9/Presbyopia
(C) <ref ngﬁ S9/Hypermetropia
(D) Eé’fﬁ %IW/Astigmatism

S HS YBRT Bl YHIU Bl B, 99
= A & P T 99 SR ga
T

116.

117.

118.

119.

120.

Among the following colours which bends
the most when white light undergoes dis-
persion is :

(A) Frd/Mndigo  (B) @Ta/Red
(C) RM/Orange (D) Well/Yellow
AR & feAfenrse &1 PR 3—

The twinkling of star is due to :

(A) IIHATEATT 3T9aci=/Atmospheric
refraction

B) argHvEAId faad/Atmospheric
diffraction

© EITT:I'U@PﬁE[ qa%Uf?r/Atmospheric
dispersion

(D) IYAVSAT BN & GRT BRI 6
fadof/Scattering of light by the par-
ticles in the atmosphere

Pieiigsa HUI ERI PHIT HI D0 2—
The scattering of light by the colloidal
particles is :

(A) o 9T/ Thermal effect

(B) ST YHTd/Balwin effect

(C) XmH YHId/Raman effect

(D) F=a q41d/ Tyndall effect

SITHIRT 1 el 7 3R A iR A
& T G P AT T BT PIROT Bl 5—

The blue colour of the sky and the redding
of sun at sunrise and sunset is caused due
to :

(A) W & faehof/Scattering of light
(B) WRIacH/Reflection
(C) ol 9Ta/Thermal effect

(D) W aaéH/Atmospheric dit-

fraction
TH THRR fIea g B—

One ampere current is :

1™ 1coulomb
(A) IRicaus / 1second

B) 1%HAM « 1 ¥BUE/1 coulomb x 1
second

2%e™ 2 coulomb
© Tqeve’ ' Tsecond?

(D) 1% = 1 ¥bve?/1 coulomb ~ 1
second?

ql fogell & 9 @ fI9EaR B IR

-

Potential difference between two points

is equal to :

&1 T B, Work done
TR

(A Charge

\

qmR | 7



121.

122.

123.

124.

125.

8 |

(B) WAR x fam T/ H1/Charge x Work
done

TR Charge
© &1 T BT Work done

(I;N-TI'\’)2 (Charge)’
a1 T BE T Work done
favar=R & 7. 3. 31 B
ST unit of potential difference is :
(A) THRIIR/Ampere
(B) diee/Volt
© EIg?"l\‘T‘:r/Coulomb

(D) vfet/Joule
1 ¥ & IR B—

1 ohm is equal to :

D)

IQ“?I?I'\’/l ampere
1dee * 1 Volt

(B) 19T x 1 TR/ Volt x ampere

ldiee  , 1 Volt
©) Tt 1 ampere

(D) 1dee x (1 TERER)Z/1 Volt = (1
ampare)?

I o1y & AR B TS QAP DY Q@
e, 4 R @ gkRY —

Ifthe length of the metallic wire is doubled
then the resistance of the wire :

(A) MY I F9 BT Breduces by half
® ffl'ﬂ—*ﬂ BRI /doubles

(C) U S | B BT Treduces by V4
) ﬂﬁ'ﬂ‘*ﬂ BT B/quadruples
gioRI=e & T, 3. $HE 5—

ST unit of resistivity is :

(A) Qm B) Qlm!

<) Q (D) Qm-!

i IRRITH B e 3§ s o
qg—

(A)

When the resistors are connected in series
then :

(A) TS kRIS & fag[ a1 aRaey
& faga a1 & FEE B S/Cur-

rent through each resistor is same as

the total current in the circuit

U URRIgS® | IO drell dees]
qRue & F diecsl & FAA BRAl &/

Voltage across each resistor is same
as the total voltage in the circuit

®

AGRAWAL =XAMCART

126.

127.

128.

129.

130.

(C) TP URRIgS 9 oA arell faga
gRT B AT aRkae & Fa @
HRT & FH 811 &/ The sum of the
current passing through each resistor
is same as the total current in the
circuit

[ BIe [fFds ghRkig 4 gard

yfiRIg &9 & ®/The effective
resistance is less than the smallest of
the individual resistance

g | URRIY R, 3R R, Bl =R S
ST 8, A FHRR A B qHge
kR (R,) 8-

Equivalent resistance (Rp,) of the parallel
combination when two resistors R; and
R, are connected in parallel is equal to :

D)

(A)R:R1+R2 (B)R:&

P RR, PR, -R,
O R - SR e R
© Re™ Ror, PR Rug,

S P S B g & AR faga
g1 & HRUT AT e
EURIC I

According to Joule’s law of heating, the
heat generated due to electric current is
given by :

(A) H= PRt B) H=1R¢
(C) H=1R% (D) H = IR?
1 are faga wrfed & SRR 83—

1 watt of power is equal to :

(A) IW=1V~1A

_ 1A
®) 1W= 1y
v
© 1W= 11
Dy 1w
D) A
faega o1l 1 AaATRIS TP 5

The commercial unit of electrical energy
is

(A) f¥aare "ver/Kilowatt hour

[EZYICIGA
B) ——/
HUT
(C) fFarare/auar?/Kilowat/hour?
(D) f¥arare (sven)?/Kilowatt (hour)?
TR $ giRIgaHa—

The resistance of a wire is :

Kilowatt
hour

131.

132.

133.

(A) SHD ITJUTR FIT & &AThA D
Wﬁﬁl’cﬁ BT ¥/directly propor-

tional to its area of cross section
IHD I FIE B &IAFA A
cpHTTY < 8RN &inversely pro-

portional to its area of cross section

IHD I FIE B &IAFA A

T4 BN ¥independent of its area

of cross section

(D) S9S AJIRY FIT & &% b I
¥ WIS Bl E/proportional to

square of its area of cross section
e e Al g T S Rige
& YDV B GAED Yg G Dl T
sy sIq & ST ST ¥ -

Conductors of electric heating devices such

®

©

as bread toasters and electric irons are made
by alloy rather than pure metals because :

(A) Tast argell 9 gRRige & Bkl &/
Alloys have low resistivity

(B) st argail 7 uiRigesan s1fares 3l
B/Alleys have high resistivity

(C) U8 yRRIgea W= ¥R 78 e &

It is not dependent on resistivity

(D) Tﬂ{l—cﬁ ¥ 9§ BI¥ Tel/None of the
above

T Aot faga wIfdd IR & Aiew 9 v
U1 g9 3 f¥Ed fRm 9§ yared Bk 2
e wifdd IR & Q9 99 & g )
FRIDI & B fIem Bl B—

A current through a horizontal power line
flows in East to West direction. The di-

rection of magnetic field at a point di-
rectly below the power line is ;

(A) STR 3 f&u/North to South
(B) =f&ur | SW/South to North
(C) ufRTw & tj:CVWest to East
(D) ICT ¥ uR=¥/East to West

n gHE dlel g 9R1 984 B drel
TNATHR FSell B IRV FRIDII &3 Bl

T—

The magentic field due to current carrying

circular coil having » turns is :

(A) n®d w9 ¥ 991 9= § vHA IR
BRI ST /n? times as large as
that produced by a single turn

(B) »n AR B BU H I A9ET H UHd a1
BRI SIS /n times as large as that
produced by a single turn



134.

135.

136.

137.

©) %awa%wfra@rwfrw

1
IR NI ST ; tines as large as

that produced by a single turn

(D) THhel SN gRI ST & FH/will
be same as that produced by a single
turn

GRATITDT B 3SR ST AT JrIDbId
&3 P ST HIA B A" I Y
FRID A O TRA R B ghs Bl
e R B fg e < | 2|
S P I 8, Y a1 S 5

The strong magnetic field produced in-
side a solenoid can be used to magnetise a
piece of magnetic material like soft iron
when placed inside the coil. The magnet
so formed is called as :

(A) fI=[T gw=/Electromagnet

B) Qﬁlﬂ‘%ﬁﬁﬂ)iamagnet

(C) 3Jrgg~Id/Paramagnet

(D) T Jrh/Permanent magnet
e ST 98 T el TP e e
GRATfRr B R g

The magnetic field inside a long straight
solenoid carrying current :

A) ™ B ¥is zero

(B) SIRI-OIY B Id 6 R §&4 &, T

ST &/decreases as we move towards
its end

(C) O & & 3 B 3R S &, T
ST ¥fincreases as we move towards
its end

(D) |t fogail W= W9 BN Fis the

same at all points
I & 9 B9 & W & 9K,
qo 1 ferem Sl B

According to Fleming’s left hand rule, the
fore finger is pointed towards the direc-
tion of :

A) ﬁ'ﬂﬁ Jarg/Electric current

B) ﬂ@?ﬁ?{ &5/Magnetic field

(C) SR gd/Force exerted

(D) WarE® Hi TIRI/Motion of the conductor

I8 TUBROT S [ aRuer # fag@ &
SURRY & I A Fehell B

The device that detects the presence of a
current in a circuit 1s :

138.

139.

140.

141.

142.

(A) diceiIey/ Voltmeter

(B) Te@HIe”/Galvanometer

(C) YRR g®/Resistor

(D) SHIE/Diode

ey SFRER @ T & e ) Hee
-

The basic phenomenon of working of an
electric generator is :

(A) SAFIIARE FEF/Electromag-

netic induction
B) B yua/Hall effect

(C) BRIZgelfded UvE/Ferroelectric effect

(D) wieigafdgd YHTA/Photoelectric
effect

dld & AR Bl Uh DR Bl Uh
FRIDI &3 H gAR Il ¢ | URa faga
GG IEN ICRiCT 7 gRafia
BRIy

A rectangular coil of copper wire is rotated
in a magnetic field. The direction of the
induced current changes once in each :

(A) 2 ‘El'\Uﬁ/Z revolutions

B 1 q\ﬂﬁ/ 1 revolution

<) 12 q]ﬂ—*[/half revolution

(D) 1/4 gofA/1/4h revolution

DY &7 I Bl Th Y e
S & ofel g &5 B

Magnetic field lines are shown closer
together where the magnetic field is :

(A) HASId/Stronger

(B) g/ Weak

(C) sH11/Constant

D) Tﬂ{l—cﬁ ¥ 9§ BI¥ Tel/None of the

above

egd & 9 arel |iegs @ gEer
&= @ | B 5

The magnetic field of a solenoid carrying
a current is similar to that of a :

(A) gD %1 TE1/Bar magnet

(B) R &F/Resistor

(C) fasTell & AreY/Electric motor

(D) @& @ Hel/Iron core

BRI H AC &1 3mYRT 220 V, 50 Hz & 1
ATRY B AN & T T gge B
el g, BT a1 I 5—

The AC supply to the houses is of 220 V,

50 Hz. One of the wires in this supply is
with red insulation called as :

143.

144.

145.

146.

(A) ﬁ'ﬂ“ﬁ[ AdR/Live wire

(B) eI dR/Neutral wire

(C) ordf aRRV/Earth wire

D) Tﬂﬂ—cﬁ I BIE 7T8/None of the above

fea—gradia IROT & T B

The phenomenon of Electro-magnetic in-
duction is :

(A) T varel B ARG B B uian
Process of charging a body
TH Foal 4 BIR (g oA b

PRUI FEH & I BIA Dl

TfsA/Process of generating magnetic
field due to a current passing through
a coil

TH FEF AR FIell & 91 AE
TR & HIROT Kol H IR g g
JU— DA/ Inducing electric current

in a coil due to relative motion be-
tween a magnet and the coil

(D) fO=[@ AR & g{sa B FAT Bl
i/ The process of rotating a coil
of an electric motor

g afaer (1S afde) & w0, akaer 4
fstel o fag@—

At the time of short circuit, the current in
the circuit :

(A) R PH B I T/Reduces sub-
stantially

(B) & s&@d &/Does not change
(C) 3Afd® daa ¥ncreases heavily
(D) TR Sl &/ Vary continuously

faE yare & IAeT & forg SuanT foy
ST arel SUSRVT Bl el Sl 5—

The device used for producing electric

®

©

current is called as :

(A) STIRTR/Generator

(B) Te@HIe”/Galvanometer

(C) 3 Ie”/Ammeter

(D) #HIe¥/Motor

g uRuy (i afde) I afkaer o1 e
@ 1T YT febaT ST el Y& SUHRUT
-

The safety device used for protecting the
circuits from short circuiting is :

(A) YRR &F/Resistor

(B) wSI/Fuse
(C) #IeX/Motor

(D) STRTR/Generator

quR | 9



Which of the following is not an example
of conventional energy source ?

(A) AHE/Wood

(B) SR I™/Gobar gas

(€) AT Holl/Nuclear energy
(D) HIel/Coal

150. frfeaRead & 3 P Soff @ T IR
TRERG Hd 3 ?

Which among the following is a
non-conventional source of energy ?

(A) STared $e/Fossil fuel

(B) 9 Swl/Solar energy

©) \_rlaﬁ—%gﬁ FAF/Hydro power plant
(D) arg Holl/Wind energy

10 | AGRAWAL =XAMCART

[
4. (C) I o9 F IR = (o)
=4x4x4
= 64 cm3
BIC §9 B AT = (1) =1 em?

. o e - -6
YT,
IS T 1 TU T &FhA
=6 (oM
:6X(4)2
= 96 cm?
BIC T B FA TYU! TS Sh
=64 %6 x (o)

147. faed a1 &1 fem o oIkl 3— ARATHD & =64 x6x1
- . . =64 x 6 cm?
The direction of the electric current is
taken : AT 1 : 70T A U =64 < 6: 96
(A) TeAFcHl & yare $I e & FHe uih be =4:1
Same as the direction of flow of 1. B) > K1 5 =Y 5. (AW,
electrons NPT AT =TT T3 el I
. a+b b+c ;
(B) SeTargiAl &l Yare &l foen & faudey RS e HA DI ATATT
Opposite to the direction of flow of aR2H =1Ixb xh
lect
eecro\l?s- c+y :w 0 2 7 7 »
(C) T & YaIe @ &2 @ 2 XX Y =22 14 < h
oY a<]/Perpendicular to the direc- v oa, b T c GERR S07 H 2
tion of flow of electrons L 2b=a+c @M h— M
- ] ’ Tx2x2x22x14
(D) geidelHl & Yare & HRU faga & ()9, ,
fore ®1$ e =& ¥/ There is no di- 2% +(a+¢) =25m _
rection for the current due to flow of xty = - 5 6. (B) 3delic 1 RIS $H # T W,
electrons 33,35,41,46,55,58, 64,77,87,90,
< q 2b+2b 92
148. YRR R & IR B gl Ui |91 410 x+y = -
¥ HTel O ¥ |37 A0 B R G 2 U W, (92H 99 A 41 H 439
Y S ' 1 93T W)
RIS CIEIR CES KR ISEERE S 2. (A) ST SRR —
R 16 33, 35,43, 46, 55,58, 64,77, 87,
gkRIg R'2, r P ST T— 3.(D) P, —n? 1 (A ) 9Of99 |
—32 71— _ IE, n =11 (fawq = )
A piece of wire of resistance R is cut into b3 3_ ~1=9-1=81 589
five equal .parts. These parts are then AT € . _ [n +lj S —
connected in parallel. If the equivalent Ps=52-1=25-1=24, S fF 8 2
ist { thi bination is R', th .
resistance of this combination is R', the qog ¥ S —
R —72_1= =
ratio. o s P, 7%71 49-1 =48, f& 8% _ 58
o & 7.(C) Q X 3x—ky = 5.7 3,2) ¥
@A) - B) . ' BHR Sl 2|
25 5 Py=42-1=16-1-15 % 83 L x=3 A€y = 2R W,
©) 5 D) 25 I T 343 kx2 =5
. —62_1=236G_1=
149. fFrifaRed § 9 S urealRe ol & Ps 6:@%'36 1=35,0 f% 8% -2k =59
: qrogq
ey 8 ¥? 7 o 4
W T, n* Vb o quifep e Bt k=— =2

8. D) uzbnﬂxaw1
. b bnfl
a” a 2
=agbn— = b x — =
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< o,
dm="5n-8
. ()T (i) B A TR W,
AT-n)=5n-38
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1
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1
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4
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Z APB = 90°
AABPH,
sin *AB
J3 AP
B 3AP*4\/§ cm,
gH:cos ~AB
L_pP BP=4
2— 8 = =4 cm
A ABP &I &51%d
1
=5 IR < A
——xBPxAP
1
:—x4x4\/§
2
:8\/§cm2
20. (B) 99&IUT A ABM ¥,
3007£
CcOS = AM

N\
qoR | 11



AM
20 _
AM= "7 @D
M
2 [
A—Tom B
T{:
3007 E
sin = AM
1 MBx\3
2 20
10
MB= 7 (i)
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29. (A) =
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sn@= 37 35 A =3 THBIOT AOMA H,
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3
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B = 180 - 90 = 90° AB



- AB=2AM
(.~ M, AB &1 H&f9g B)
AB =24 cm
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45. (D) .+ 12908 H 99 & Hidl & a9 6B
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. 4 °ud A uG & B D G B

360
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46. (C) sin © + cosec 0= 2
A /e T FA )],
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sin20 + cosec B + 2sind, cosec O
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3

x=

_ A4y
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_ 3054y

=2 3
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50.
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53.
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(C) i 51 &1 TeRIRP 3771 b e
SR fFa o & @ e N
T B B
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PGS TN A W P T B

(D) 3Tl 3l A1 Sid ER-4R 31 7 CO,
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(C) Te[PIST TAGT & QR BIRABIS
Sfedoq & Ay fieax Co, @i
U Bl SAIET Bl B
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(B) QST TTHH THicH B T B B
]

(B) 1 I Agoc Bl M fbar oIl & <l
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TR TP SUIE 6 TS Bl & o U
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T BT & P 39 = M
qHRT T8 B

(C) T TP TRA AN S & orep!
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B {5 arg 91 dreax I’ & ¥
A ST & U7 Pl AT BT
F1

(D) TS T VA 9T & Sl TR
BN T, TP FHE O oremg B S
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]
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(D) 91 3lfeaTss o9 3 4 fopan Bt
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(A) g% B dqrIraRel 9 H,SO, (FergReb
) B 9IGA BN E Ol T 9%R
R Gl 1B BT E

(A) TR ¥ affgolfars ufrs, g 4
fofew Tirs, sHell A TR TS
Jo A B SF A HIARS vIS
(Wi 3/ a) & Bl
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TE T D= ]%lﬁ (Principal Focus)
q oAl B

(A) 91T HIS TG <7 J G 9IRA & Al
I YU gRT 9 Ui g
& PR H IO &

(A) &< Tafecasl g1 qen mfsal &
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(B) % IReX IR fagd 341 o fagga
T & IUBRUT FARP g TSN Dbl
oI fi¥81 aTgall & SIQ ST & FATTh
rs1 argail & gfoRigd i Bl
gl

16 | AGRAWAL =XAMCART

132.
133.

134.
135.

136.

137.

138.

139.
140.
141.
142.

(A)

(B)

(A)

(D) foe[@ a)1 987 H Al TP oI
e aRAIforad & WoR gEHIT &
|4 fogell W) [ B B

(B) WRIMRT & 913 819 & T & AR
Toil Sl I &3 B IR
gl

(B) T faeg aRuyr 7 ieaamiiex faga
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1. 13fSIF 1 BT B—

(A) 180°
(©) 57°16'12"

B)47°51'17"
(D) 60° 30" 15"

R

. @l 1+y—x P T B—
1=

y
) -1 ®) 1
< 2 D)o
(x+5) (x> +7x +10)
C (x43) (22 +10x +25) T TRIAH A<
B —
x+2 x-2
A) %43 ®) ¥ 3
x+5 x+3
© 13 D) 155
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60°F| afx waT f A 10 9 T, @
AR 6 a8 ai—

(A) 23569 (B) 23.66 1

(C) 23.60H (D) 23.80 9

. AR o, PEAIPRUT 232 - 3x + 1 =0D HA
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(A) 8 ®B)9

8 9
© 3 D) 3

. 25— %% =x— 1 P VHHA A 5
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© 3 ®) 5
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13.
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(A) 25,27 B) 27.-125
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